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The electron transport chain (ETC) is
membranes of the mitochondri

series of electron acceptors and proton pumps in the
istae that accept the high energy electrons from NADH &
FADH2. As the electrons pass through the ETC, their energy is used to pump protons (H.) from

the matrix to the outer compartment. These protons will laer diffuse back to the matrix & their
energy is used to make 32 ATP!
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5. Oxygen is the final electron acceptor. For
1. NADH & FADHZ bring high energy electrons
(e-) and protons () to'the cristae from

derobic respiration to continue, all protons &
low energy electrons must b removed.
either glycoiysis o the krebs cycle.

When oxygen is present it is reduced to water
by adding protons & electrons, This removes
the electrons & protons, and aiso provides a
2. The.nigh energy etectrons are constant source of NAD+ and FAD.
Ppassed to proton pumps & electron

acceptors in the cristae. f

il

ise back to the sites of Glycolysis & Krebs
Cle 10 help keep those processes qoing!




